

DIRECT ESTIMATES IN SIMULTANEOUS APPROXIMATION FOR DURRMEYER TYPE OPERATORS

N. K. GOVIL AND VIJAY GUPTA

(communicated by H. M. Srivastava)

Abstract. In the present paper, we study a Durrmeyer type integral modification of the well-known Baskakov operators with the weight function of Beta basis function. Some approximation properties of these operators were recently studied by Finta [2]. Here we study simultaneous approximation properties for these operators. We estimate local direct result in terms of modulus of continuity. The operators considered in this paper reproduce not only the constant functions but also the linear ones, due to this property we can improve the order of approximation for these operators by applying the iterative combinations, which were first studied by Micchelli [7]. We establish an asymptotic formula and error estimation in terms of higher order modulus of continuity in simultaneous approximation for the Micchelli combinations of these operators.

1. Introduction

The new type of Baskakov-Durrmeyer operator is defined as

$$B_n(f(t), x) = \sum_{v=1}^{\infty} p_{n,v}(x) \int_0^{\infty} b_{n,v}(t) f(t) dt + (1+x)^{-n} f(0) = \int_0^{\infty} K_n(x, t) f(t) dt, \quad (1)$$

where $p_{n,v}(x) = \binom{n+v-1}{v} \frac{x^v}{(1+x)^{n+v}}$; $b_{n,v}(t) = \frac{1}{B(n+1,v)} \frac{t^{v-1}}{(1+t)^{n+v+1}}$ and $K_n(x, t) = \sum_{v=1}^{\infty} p_{n,v}(x) b_{n,v}(t) + (1+x)^{-n} \delta(t)$, $\delta(t)$ being the Dirac delta function.

The operators defined by (1) are the Durrmeyer integral modification of the well known Baskakov operators having weight functions of Beta basis functions. Some approximation properties of the operators $B_n(f, x)$ were recently discussed by Finta [2]. The operators B_n have different approximation properties than the other usual Baskakov Durrmeyer operators studied in [4], [8] and [9] etc. These operators reproduce not only the constant functions but also the linear functions, which is the interesting property of these operators, while the usual Baskakov Durrmeyer operators reproduce only the constant functions. However it turns out that the order of approximation for the operators (1) is at best $O(n^{-1})$ even for smooth functions. To improve the order

Mathematics subject classification (2000): 41A30, 41A36.

Key words and phrases: simultaneous approximation, Micchelli combinations, asymptotic formula, error estimate.

The work carried out when the second author visited Department of Mathematics and Statistics, Auburn University, USA in fall 2005.

of approximation, we consider the iterative combinations due to Micchelli [7] of these operators.

We define the class $C_\gamma[0, \infty) \equiv \{f \in C[0, \infty) : |f(t)| \leq Mt^\gamma \text{ for some } M > 0, \gamma > 0\}$. The norm $\|\cdot\|_\gamma$ on $C_\gamma[0, \infty)$ is defined as $\|f\|_\gamma = \sup_{0 < t < \infty} |f(t)|t^{-\gamma}$. For $f \in C_\gamma[0, \infty)$, we introduce the operators $B_{n,k}(f, x)$, which are defined by

$$B_{n,k}(f, x) = (I - (I - B_n)^k)(f(t), x) = \sum_{p=1}^k (-1)^{p+1} \binom{k}{p} B_n^p(f, x),$$

where $B_n^p(f, x)$, $p \in N$ denotes the p -th iterate, and $B_n^0(f, x) = I$. For some other operators such type of iterative combinations were recently considered in [1] and [6].

For sufficiently small $\delta > 0$, linear approximating function viz. Steklov mean $f_{\eta,2k}(t)$ of $2k$ -th order corresponding to $f \in C_\gamma[0, \infty)$ is defined by

$$f_{\eta,2k}(t) = \delta^{-2k} \int_{-\frac{\delta}{2}}^{\frac{\delta}{2}} \dots \int_{-\frac{\delta}{2}}^{\frac{\delta}{2}} (f(t) - \Delta_\eta^{2k} f(t)) dt_1 dt_2 \dots dt_{2k},$$

where $\eta = \frac{1}{2} \sum_{i=1}^{2k} t_i$, $t \in [a, b]$ and $\Delta_\eta^{2k} f(t)$ is the $2k$ -th order forward difference of f with step length η . It is easily checked for $0 < a_1 < a_2 < b_2 < b_1 < \infty$ that:

- (i) $f_{\eta,2k}$ has continuous derivatives up to order $2k$ on $[a_1, b_1]$,
- (ii) $\|f_{\eta,2k}^{(r)}\|_{C[a_2, b_2]} \leq \widehat{M}_1 \delta^{-r} \omega_{2k}(f, \delta, a_1, b_1)$,
- (iii) $\|f - f_{\eta,2k}\|_{C[a_2, b_2]} \leq \widehat{M}_2 \omega_{2k}(f, \delta, a_1, b_1)$,
- (iv) $\|f_{\eta,2k}\|_{C[a_2, b_2]} \leq \widehat{M}_3 \|f\|_\gamma$,

where $\widehat{M}_i, i = 1, 2, 3$ are certain constants that depend on $[a, b]$ but are independent of f and n . These properties are also mentioned in [6].

By $C_B[0, \infty)$ we denote the space of all real valued continuous bounded functions f on $[0, \infty)$ endowed with the norm $\|f\| = \sup_{x \geq 0} |f(x)|$. Let $\omega(f, \delta) = \sup_{0 < h \leq \delta} \sup_{x \geq 0} |f(x+h) - f(x)|$ be the usual modulus of continuity of $f \in C_B[0, \infty)$.

In the present paper we investigate and study simultaneous approximation, in first main result, we establish a local direct result in terms of ordinary modulus of continuity. Second and third main result in the present paper are respectively Voronovskaja type asymptotic formula and an estimation of error for the iterative combinations of the operators (1).

Our main results are as follows:

THEOREM 1.1. *Let $n > r + 1 \geq 2$ and $f^{(i)} \in C_B[0, \infty)$ for $i \in \{0, 1, 2, \dots, r\}$. Then*

$$|B_n^{(r)}(f, x) - f^{(r)}(x)| \leq \left(\frac{(n+r-1)!(n-r)!}{n!(n-1)!} - 1 \right) \|f^{(r)}\| + 2 \frac{(n+r-1)!(n-r)!}{n!(n-1)!} \omega(f^{(r)}, \delta(n, r, x)),$$

where $\delta(n, r, x) = \left\{ \frac{2n+4r(1+r)}{(n-r)(n-r-1)} x^2 + \frac{2n+4r(1+r)}{(n-r)(n-r-1)} x + \frac{r(1+r)}{(n-r)(n-r-1)} \right\}^{\frac{1}{2}}$, and $x \in [0, \infty)$.

THEOREM 1.2. *Let $f \in C_\gamma[0, \infty)$ and $f^{(2k+r)}$ exists at a point $x \in (0, \infty)$. Then*

$$\lim_{n \rightarrow \infty} n^k [B_{n,k}^{(r)}(f(t), x) - f^{(r)}(x)] = \sum_{j=r}^{2k+r} P(j, k, r, x) f^{(j)}(x),$$

where $P(j, k, r, x)$ are certain polynomials in x .

THEOREM 1.3. *Let $f \in C_\gamma[0, \infty)$ and suppose $0 < a_1 < a_2 < b_2 < b_1 < \infty$. Then for all n sufficiently large, we have*

$$\|B_{n,k}^{(r)}(f, \bullet) - f^{(r)}\|_{C[a_2, b_2]} \leq M \{ \omega_{2k}(f^{(r)}, n^{-\frac{1}{2}}, a_1, b_1) + n^{-k} \|f\|_\gamma \},$$

where M is a constant independent of f and n .

2. Basic results

In this section we mention certain lemmas which will be used in the sequel.

LEMMA 2.1. [4] *Let $m \in N \cup \{0\}$., If the m^{th} order moment is defined as*

$$U_{n,m}(x) = \sum_{v=0}^{\infty} p_{n,v}(x) \left(\frac{v}{n} - x\right)^m,$$

then $U_{n,0}(x) = 1, U_{n,1}(x) = 0$ and also there holds the recurrence relation:

$$nU_{n,m+1}(x) = x(1+x)[U_{n,m}^{(1)}(x) + mU_{n,m-1}(x)].$$

Consequently we have $U_{n,m}(x) = O(n^{-[(m+1)/2]})$.

LEMMA 2.2. *Let the function $T_{n,m}(x), m \in N \cup \{0\}$, be defined as*

$$T_{n,m}(x) = B_n((t-x)^m, x) = \sum_{v=1}^{\infty} p_{n,v}(x) \int_0^{\infty} b_{n,v}(t)(t-x)^m dt + (1+x)^{-n}(-x)^m.$$

Then $T_{n,0}(x) = 1, T_{n,1} = 0, T_{n,2}(x) = \frac{2x(1+x)}{n-1}$. Also, there holds the recurrence relation

$$(n-m)T_{n,m+1}(x) = x(1+x)[T_{n,m}^{(1)}(x) + 2mT_{n,m-1}(x)] + m(1+2x)T_{n,m}(x), n > m.$$

From the above recurrence relation, it is easily verified that for all $x \in [0, \infty)$, we have

$$T_{n,m}(x) = O(n^{-[(m+1)/2]}).$$

The proof of Lemma 2.2 can easily be done along the lines of the proof of [5, Lemma 2.2].

REMARK 1. It is easily verified from Lemma 2.2 that for each $x \in (0, \infty)$

$$B_n(t^i, x) = \frac{(n+i+1)!(n-i)!}{n!(n-1)!} x^i + i(i-1) \frac{(n+i-2)!(n-i)!}{n!(n-1)!} x^{i-1} + O(n^{-2}).$$

COROLLARY 2.1. *Let δ be a positive number. Then for every $\gamma > 0$, $x \in (0, \infty)$, there exists a constant $M(s, x)$ independent of n and depending on s and x such that*

$$\left\| \int_{|t-x|>\delta} K_n(x, t)t^\gamma dt \right\|_{C[a,b]} \leq M(s, x)n^{-s}, \quad s = 1, 2, 3, \dots$$

The m -th order moment for the operators $B_n^p(f, x)$ is denoted by $T_{n,m}^{(p)}(x)$ and defined as $T_{n,m}^{(p)}(x) = B_n^p((t-x)^m, x)$. In particular $T_{n,m}^{(1)}(x)$ reduces to $T_{n,m}(x)$, defined in Lemma 2.2.

LEMMA 2.3. *For $p \in N$, there holds the following relation*

$$T_{n,m}^{\{p+1\}}(x) = \sum_{j=0}^m \binom{m}{j} \sum_{i=0}^{m-j} \frac{1}{i!} T_{n,i+j}(x) \frac{\partial^i}{\partial x^i} T_{n,m-j}^{\{p\}}(x).$$

LEMMA 2.4. *We have*

$$T_{n,m}^{(p)}(x) = O(n^{-[(m+1)/2]}).$$

Proof. For $p = 1$, the result follows easily from Lemma 2.2. By using Lemma 2.3, and the fact that $T_{n,m-j}^{\{p\}}(x)$ is a polynomial in x of degree at most $m - j$, the result, in the general case, follows immediately by the principle of mathematical induction.

LEMMA 2.5. *For $l \in N$, we have*

$$B_{n,k}((t-x)^l, x) = O(n^{-k}).$$

Proof. For $k = 1$ the result easily follows from Lemma 2.2, and in the general case it follows immediately on applying Lemma 2.3, Lemma 2.4, and the induction hypothesis.

LEMMA 2.6. [4] *There exist the polynomials $Q_{i,j,r}(x)$, independent of n and v such that*

$$\{x(1+x)\}^r D^r [p_{n,v}(x)] = \sum_{\substack{2i+j \leq r \\ i,j \geq 0}} n^i (v-nx)^j Q_{i,j,r}(x) p_{n,v}(x),$$

where $D \equiv \frac{d}{dx}$.

LEMMA 2.7. *If f is r times differentiable on $[0, \infty)$, and $f^{(r-1)} = O(t^\alpha)$, $\alpha > 0$ as $t \rightarrow \infty$ then for $r = 1, 2, 3, \dots$ and $n > \alpha + r$ we have*

$$B_n^{(r)}(f, x) = \frac{(n+r-1)!(n-r)!}{n!(n-1)!} \sum_{v=0}^{\infty} p_{n+r,v}(x) \int_0^{\infty} b_{n-r,v+r}(t) f^{(r)}(t) dt.$$

The proof of the above lemma easily follows along the lines of the proof of [5, Lemma 2.3].

3. Proofs

In this section we present the proofs of main results.

Proof of Theorem 1.1. Applying Lemma 2.7, we get

$$B_n^{(r)}(f, x) - f^{(r)}(x) = \left[\frac{(n+r-1)!(n-r)!}{n!(n-1)!} - 1 \right] f^{(r)}(x) + \frac{(n+r-1)!(n-r)!}{n!(n-1)!} \sum_{v=0}^{\infty} p_{n+r,v}(x) \int_0^{\infty} b_{n-r,v+r}(t) [f^{(r)}(t) - f^{(r)}(x)] dt,$$

because $\int_0^{\infty} b_{n-r,v+r}(t) dt = 1$ and $\sum_{v=0}^{\infty} p_{n+r,v}(x) = 1$.

Using the inequality $\omega(f^{(r)}, \lambda \delta) \leq (1 + \lambda) \omega(f^{(r)}, \delta)$, $\lambda \geq 0$ we get

$$\begin{aligned} |B_n^{(r)}(f, x) - f^{(r)}(x)| &\leq \left[\frac{(n+r-1)!(n-r)!}{n!(n-1)!} - 1 \right] \|f^{(r)}\| \\ &+ \frac{(n+r-1)!(n-r)!}{n!(n-1)!} \sum_{v=0}^{\infty} p_{n+r,v}(x) \int_0^{\infty} b_{n-r,v+r}(t) |f^{(r)}(t) - f^{(r)}(x)| dt \\ &\leq \frac{(n+r-1)!(n-r)!}{n!(n-1)!} \sum_{v=0}^{\infty} p_{n+r,v}(x) \int_0^{\infty} b_{n-r,v+r}(t) (1 + \delta^{-1}|t-x|) \omega(f^{(r)}, \delta) dt \\ &+ \left[\frac{(n+r-1)!(n-r)!}{n!(n-1)!} - 1 \right] \|f^{(r)}\|. \end{aligned} \tag{2}$$

Using Cauchy-Schwarz inequality, we obtain

$$\sum_{v=0}^{\infty} p_{n+r,v}(x) \int_0^{\infty} b_{n-r,v+r}(t) |t-x| dt \leq \left(\sum_{v=0}^{\infty} p_{n+r,v}(x) \int_0^{\infty} b_{n-r,v+r}(t) (t-x)^2 dt \right)^{\frac{1}{2}}. \tag{3}$$

Also, by easy computation, we are led to

$$\begin{aligned} &\sum_{v=0}^{\infty} p_{n+r,v}(x) \int_0^{\infty} b_{n-r,v+r}(t) (t-x)^2 dt \\ &= \frac{2n+4r(1+r)}{(n-r)(n-r-1)} x^2 + \frac{2n+4r(1+r)}{(n-r)(n-r-1)} x + \frac{r(1+r)}{(n-r)(n-r-1)}. \end{aligned} \tag{4}$$

On combining (2)-(4), we get

$$\begin{aligned} |B_n^{(r)}(f, x) - f^{(r)}(x)| &\leq \frac{(n+r-1)!(n-r)!}{n!(n-1)!} \left(1 + \delta^{-1} \left[\frac{2n+4r(1+r)}{(n-r)(n-r-1)} x^2 \right. \right. \\ &+ \left. \left. \frac{2n+4r(1+r)}{(n-r)(n-r-1)} x + \frac{r(r+1)}{(n-r)(n-r-1)} \right]^{\frac{1}{2}} \right) \omega(f^{(r)}, \delta) \\ &+ \left[\frac{(n+r-1)!(n-r)!}{n!(n-1)!} - 1 \right] \|f^{(r)}\|. \end{aligned}$$

Finally, if we choose $\delta = \delta(n, r, x)$, we obtain the assertion of the theorem.

Proof of Theorem 1.2. By Taylor expansion of f , we have

$$f(t) = \sum_{i=0}^{2k+r} \frac{f^{(i)}(x)}{i!} (t-x)^i + \varepsilon(t, x)(t-x)^{2k+r},$$

where $\varepsilon(t, x) \rightarrow 0$ as $t \rightarrow x$.

Note that,

$$\begin{aligned} B_{n,k}^{(r)}(f, x) &= \sum_{p=1}^k (-1)^{p+1} \binom{k}{p} \frac{\partial^r}{\partial x^r} B_n^p(f, x) \\ &= \sum_{p=1}^k (-1)^{p+1} \binom{k}{p} \int_0^\infty K_n^{(r)}(x, y) \times \\ &\quad \times \left\{ \sum_{j=r}^{2k+r} \frac{f^{(j)}(x)}{j!} B_n^{p-1}((t-x)^i, y) + B_n^{p-1}(\varepsilon(t, x)(t-x)^{2k+r}, y) \right\} dy \\ &=: E_1 + E_2. \end{aligned}$$

Using Lemma 2.2, we get

$$\begin{aligned} E_1 &= \sum_{j=r}^{2k+r} \frac{f^{(j)}(x)}{j!} \sum_{i=0}^j \binom{j}{i} (-x)^{j-i} B_{n,k}^{(r)}(t^i, x) \\ &= \sum_{j=r}^{2k+r} \frac{f^{(j)}(x)}{j!} \sum_{i=0}^j \binom{j}{i} (-x)^{j-i} \left\{ \frac{\partial^r}{\partial x^r} x^i + n^{-k} \frac{\partial^r}{\partial x^r} \left(\frac{P(j, k, x)}{j!} \frac{\partial^j}{\partial x^j} x^j \right) + o(n^{-k}) \right\} \\ &= \sum_{j=r}^{2k+r} \frac{f^{(j)}(x)}{j!} r! \sum_{i=0}^j (-1)^{j-i} \binom{j}{i} \binom{j}{r} x^{j-i} + n^{-k} \sum_{j=r}^{2k+r} P(j, k, r, x) f^{(j)}(x) + o(n^{-k}) \\ &= f^{(r)}(x) + n^{-k} \sum_{j=r}^{2k+r} P(j, k, r, x) f^{(j)}(x) + o(n^{-k}), \end{aligned}$$

in view of the identities

$$\sum_{i=0}^j (-1)^i \binom{j}{i} \binom{i}{r} = \begin{cases} 0 & j > r \\ (-1)^r & j = r. \end{cases}$$

To estimate E_2 , note that if

$$I = \int_0^\infty K_n^{(r)}(x, y) B_n^{r-1}(\varepsilon(t, x)(t-x)^{2k+r}, y) dy,$$

then on applying Lemma 2.6, we get

$$|I| \leq \sum_{\substack{2i+j \leq r \\ i,j \geq 0}} n^i \frac{|Q_{i,j,r}(x)|}{\{x(1+x)\}^r} \sum_{v=1}^{\infty} |v-nx|^j p_{n,v}(x) \int_0^{\infty} b_{n,v}(y) B_n^{p-1}(|\varepsilon(t,x)||t-x|^{2k+r}, y) dy + \frac{(n+r+1)!}{(n-1)!} (1+x)^{-n-r} |\varepsilon(0,x)| x^{2k+r}.$$

The second term in the right hand side of above expression multiplied by n^k tends to zero as $n \rightarrow \infty$. Since $\varepsilon(t,x) \rightarrow 0$ as $t \rightarrow x$ for a given $\varepsilon > 0$ there exists a $\delta > 0$, such that $|\varepsilon(t,x)| < \varepsilon$ whenever $0 < |t-x| < \delta$. Therefore, for $|t-x| \leq \delta$, we have $|\varepsilon(t,x)(t-x)^{2k+r}| \leq Mt^\gamma$ for some $M > 0$. Hence

$$|I| \leq \sum_{\substack{2i+j \leq r \\ i,j \geq 0}} n^i \frac{|Q_{i,j,r}(x)|}{\{x(1+x)\}^r} \sum_{v=1}^{\infty} |v-nx|^j p_{n,v}(x) \times \left\{ \varepsilon \int_{|t-x| < \delta} b_{n,v}(y) B_n^{p-1}(|t-x|^{2k+r}, y) dy + \int_{|t-x| \geq \delta} b_{n,v}(y) B_n^{p-1}(Mt^\gamma, y) dy \right\} =: I_1 + I_2.$$

If we apply Cauchy-Schwarz inequality, Lemma 2.1 and Lemma 2.4, we get that $I_1 = \varepsilon O(n^{-k})$. Now, proceeding in a similar way by applying Cauchy-Schwarz inequality and Corollary 2.1, we obtain $I_2 = o(n^{-k})$. Since $\varepsilon > 0$ is arbitrary, we get $I = o(n^{-k})$, and this completes the proof of the theorem.

Proof of Theorem 1.3. Using the linearity property, we get

$$\begin{aligned} & \|B_{n,k}^{(r)}(f, \bullet) - f^{(r)}\|_{C[a_2, b_2]} \\ & \leq \|B_{n,k}^{(r)}(f - f_{\eta,2k}, \bullet)\|_{C[a_2, b_2]} + \|B_{n,k}^{(r)}(f_{\eta,2k}, \bullet) - f_{\eta,2k}^{(r)}\|_{C[a_2, b_2]} + \|f^{(r)} - f_{\eta,2k}^{(r)}\|_{C[a_2, b_2]} \\ & =: J_1 + J_2 + J_3. \end{aligned}$$

Since $f_{\eta,2k}^{(r)} = (f^{(r)})_{\eta,2k}(t)$, by the property (iii) of the Steklov mean, we have

$$J_3 \leq M_1 \omega_{2k}(f^{(r)}, \delta, a_1, b_1).$$

Next on applying Theorem 1.2, we get

$$J_2 \leq M_2 n^{-k} \sum_{j=r}^{2k+r} \|f_{\eta,2k}^{(j)}\|_{C[a_1, b_1]}.$$

If we now apply the interpolation property due to Goldberg and Meir [3], for each $j = r, r+1, \dots, 2k+r$, it follows that

$$\|f_{\eta,2k}^{(j)}\|_{C[a_2, b_2]} \leq M_3 \{ \|f_{\eta,2k}\|_{C[a_1, b_1]} + \|f_{\eta,2k}^{(2k+r)}\|_{C[a_1, b_1]} \},$$

and by applying properties (iii) and (iv) of the Steklov mean, we obtain

$$J_2 \leq M_4.n^{-k} \{ \|f\|_\gamma + \delta^{-2k} \omega_{2k}(f^{(r)}, \delta) \}.$$

Finally we shall estimate J_1 , choosing a^*, b^* satisfying the conditions $0 < a_1 < a^* < a_2 < b_2 < b^* < b_1 < \infty$, and for this if $\psi(t)$ denotes the characteristic function of the interval $[a^*, b^*]$, then

$$J_1 \leq \|B_{n,k}^{(r)}(\psi(t)(f(t) - f_{2,\delta}(t)), \bullet)\|_{C[a_1, b_1]} + \|B_{n,k}^{(r)}((1 - \psi(t))(f(t) - f_{2,\delta}(t)), \bullet)\|_{C[a_1, b_1]} \\ =: J_4 + J_5.$$

We may note here that to estimate J_4 and J_5 , it is enough to consider their expressions without the iterative combinations. By using Lemma 2.7, it is clear that

$$B_n^{(r)}(\psi(t)(f(t) - f_{\eta,2k}(t)), x) \\ = \frac{(n+r-1)!(n-r)!}{n!(n-1)!} \sum_{v=0}^\infty p_{n+r,v}(x) \int_0^\infty b_{n-r,v+r}(t) \psi(t)(f^{(r)}(t) - f_{\eta,2k}^{(r)}(t)) dt.$$

Hence

$$\|B_{n,k}^{(r)}(\psi(t)(f(t) - f_{\eta,2k}(t)), \bullet)\|_{C[a_1, b_1]} \leq M_5 \|f^{(r)} - f_{\eta,2k}^{(r)}\|_{C[a^*, b^*]}.$$

Next for $x \in [a_1, b_1]$ and $t \in [0, \infty) \setminus [a^*, b^*]$, we choose a $\delta_1 > 0$ satisfying $|t - x| \geq \delta_1$.

Therefore, by applying Lemma 2.6 and Cauchy-Schwarz inequality, we get that if

$$I \equiv B_n^{(r)}((1 - \psi(t))(f(t) - f_{\eta,2k}(t)), x),$$

then

$$|I| \leq \sum_{\substack{2i+j \leq r \\ ij \geq 0}} n^i \frac{|Q_{i,j,r}(x)|}{\{x(1+x)\}^r} \sum_{v=1}^\infty p_{n,v}(x) |v - nx|^j \int_0^\infty b_{n,v}(t) (1 - \psi(t)) |f(t) - f_{\eta,2k}(t)| dt \\ + \frac{(n+r-1)!}{(n-1)!} (1+x)^{-n-r} (1 - \psi(0)) |f(0) - f_{\eta,2k}(0)|.$$

Note that for sufficiently large n , the second term tends to zero. Hence

$$|I| \leq M_6 \|f\|_\gamma \sum_{\substack{2i+j \leq r \\ ij \geq 0}} n^i \sum_{v=1}^\infty p_{n,v}(x) |v - nx|^j \int_{|t-x| \geq \delta_1} b_{n,v}(t) dt \\ \leq M_6 \|f\|_\gamma \delta_1^{-2s} \sum_{\substack{2i+j \leq r \\ ij \geq 0}} n^i \sum_{v=1}^\infty p_{n,v}(x) |v - nx|^j \left(\int_0^\infty b_{n,v}(t) dt \right)^{\frac{1}{2}} \left(\int_0^\infty b_{n,v}(t) (t-x)^{4s} dt \right)^{\frac{1}{2}} \\ \leq M_6 \|f\|_\gamma \delta_1^{-2m} \sum_{\substack{2i+j \leq r \\ ij \geq 0}} n^i \left\{ \sum_{v=1}^\infty p_{n,v}(x) (v - nx)^{2j} \right\}^{\frac{1}{2}} \left\{ \sum_{v=1}^\infty p_{n,v}(x) \int_0^\infty b_{n,v}(t) (t-x)^{4s} dt \right\}^{\frac{1}{2}}.$$

If we now use Lemmas 2.1 and 2.2, we get

$$|I| \leq M_7 \|f\|_\gamma \delta_1^{-2s} O(n^{(i+\frac{1}{2}-s)}) \leq M_7 n^{-q} \|f\|_\gamma,$$

where $q = s - \frac{r}{2}$. Next choosing $s > 0$ satisfying $q > k$ we obtain

$$|I| \leq M_7 n^{-k} \|f\|_\gamma.$$

Therefore by property (iii) of the function $f_{\eta,2k}(t)$, we get

$$\begin{aligned} J_1 &\leq M_8 \|f^{(r)} - f_{\eta,2k}^{(r)}\|_{C[a^*,b^*]} + M_7 n^{-k} \|f\|_\gamma \\ &\leq M_9 \omega_{2k}(f^{(r)}, \delta, a_1, b_1) + M_7 n^{-k} \|f\|_\gamma, \end{aligned}$$

and now, on choosing $\delta = n^{-\frac{1}{2}}$, the Theorem 1.3 follows.

Acknowledgement. The authors are thankful to Professor H. M. Srivastava, for making valuable suggestions, leading to the better presentation of the paper.

REFERENCES

- [1] P. N. AGRAWAL, A. J. MOHAMMAD, *Approximation by iterative combinations of a new sequence of linear positive operators*, Advances in Constructive Approximation, Vanderbilt 2003, 13–24, Mod Methods Math., Nashboro Press, Brentwood, TN, 2004.
- [2] Z. FINTA, *On converse approximation theorems*, J. Mathematical Analysis and Applications, **312**, (1) (2005), 159–180.
- [3] S. GOLDBERG, V. MEIR, *Minimum moduli of ordinary differential operators*, Proc. London Math. Soc., **23**, (1971), 1–15.
- [4] V. GUPTA, *A note on modified Baskakov type operators*, Approx. Theory and its Appl., **10**, (3) (1994), 74–78.
- [5] V. GUPTA, *Error estimation by mixed summation integral type operators*, J. Mathematical Analysis and Applications, **313**, (2) (2006), 632–641.
- [6] M. K. GUPTA, V. VASISHTHA, *The iterative combinations of a new sequence of linear positive operators*, Math Comput Modelling, **39**, (2004), 521–527.
- [7] C. A. MICCHELLI, *Saturation class and iterates of the Berstein polynomials*, J. Approx. Theory, **8**, (1973), 1–18.
- [8] H. M. SRIVASTAVA, V. GUPTA, *A certain family of summation integral type operators*, Math and Comput. Modelling, **37**, (2003), 1307–1315.
- [9] Y. WANG, S. GUO, *Rate of approximation of functions of bounded variation by modified Lupas operators*, Bull. Austral. Math Soc., **44**, (1991), 177–188.

(Received September 28, 2005)

N. K. Govil
Department of Mathematics and Statistics
Auburn University
Auburn 36849-5108, Alabama
USA
e-mail: govilnk@auburn.edu

Vijay Gupta
School of Applied Sciences
Netaji Subhas Institute of Technology
Sector 3 Dwarka, New Delhi 110075
India
e-mail: vijay@nsit.ac.in